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FIRE 1. KD 2 SD~Y ML @b Ic W T, WIS Z D72 0 25K L.
(1)@= (3,1,-2),b=(2,3,1) (2) @=(—1,2,-2),b = (—3,—4,5)

(3) @ = (0,0,—1),b = (2,2,0) (4) @ = (4,—2,-2),b = (1,2,0)

i 2. D*(@Fﬁb\b:’/giio
(1) 3 2 A(1,3,4),B(0,5,5),C(1,5,6) A LT 5A ABC IZBWT, ZBAC Dk &
R &,

(2) 3 4 A(5,3,5),B(4,5,6),C(5,6,8) #THA & T 5A ABC IV T, ZABC DA
ZRd X,

iRd 3. Yjﬁ(@ﬁnﬁb‘ﬂi//giio
(1) 22507 k@ = (3,-1,0),b = (1,—1,1) OmFICEE T, K& X0 V14 DR
ML pERD X

(2) 2507 M@ = (0,-1,5),b = (2,1, —1) O FICEE T, K& X2 /30 D~
hL B ERD K,



Y SIS

PR
B 1 KD 2007 ML, b IzoWT, NEEZ0RT 0 2Kk X,
(1)62(_17271)7[)_( ) (2)&2(1,—7— )7b:(171>2)

(3)@=(2,3,—2),b=(1,2,4) (4) @ = (0,3,—1),b = (4,2,6)

HE 2. WORWIZE Z X,
(1) 3 £ A(1,3,1),B(4,4, —1),C(3,6,2) #THA L3 5A ABC 2B\ T, ZBAC DK X
S &R I,

(2) 3 4 A(0,4,—1),B(—2,-2,6),0(1,2,1) ZTHA LT 5A ABC 2B\ T, ZACB DX
T IxRD L,

BE 3. ROMWIZE R X
(1) 2507 v i =(1,3,0),b= (1,6,—1) OEFICEET, K& X2 VI9 DR b
Vg R K,

(2) 2507 b d@=(2,0,-1),b = (2,1,-3) DEFICEE T, K& SN V21 OV
ML paRD X,



fipes

il 1.

()a-b=70=60° (2)a@-b=-150=135° (3)a-b=20,0=90°
(4)@-b=0,0=90°

[ 2.

(1) ZBAC=30° (2) ZABC= 120°

i 3.
(1) p= (17 3, 2)7 (_17 -3, _2) (2) p= (_27 5, 1)? (27 —95, _1)

R 1.

(1)@-b=6,0=30° (2)d-b=-3,0=120° (3)@-b=0,0=90°
(4)@-b=0,0=90°

R 2.

(1) ZBAC=60° (2) ZABC= 135°

(1) p= (_37 173)7 (37 -1, _3) (2) p= (17472>7 <_17 —4, _2)



